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6 For oooooooooo od
oad o OsecO o O arcmind O degO
1 2 51.5 20.9
2 3 51.5 20.8
3 3 51.5 20.8
4 4 51.2 20.7
5 5 51.2 20.6
6 4 50.9 20.5
7 3 51.4 20.4
8 4 51.1 20.3
9 5 51.1 20.1
10 5 51.1 20
od 3.8 51.25
od 1.03 0.21
0.22
0 arcmin0
ooooooo 0.3 OarcminO
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6 For 1.4 0.3
0s0d 0 arcmin0

oog = 99.01.18
gooo = 190 450 200 30
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B Per gooooooogo gd
oad o OsecO o O arcmind O degO
1 7 59.1 79.1
2 11 59.2 78.4
3 12 58.9 77.7
4 11 58.4 76.9
5 12 59.2 76.2
6 12 58.9 75.4
7 13 58.5 74.8
8 12 58.9 74.1
9 12 59 73.3
10 12 59.2 72.7
od 11.4 58.93
od 1.65 0.28
0.31
0 arcmin
Aa Osec000OA S Jarcmin0 O cosdé 00O 0600 150
B Per 1.6 0.3
0s0 0 arcmin0




